

ad * 28.03

$$\int_0^1 (1-x^4)^n dx = x(1-x^4)^n \Big|_0^1 - \int_0^1 n(1-x^4)^{n-1} x \cdot (-4x^3) dx$$

$$= 4n \int_0^1 (1-x^4)^{n-1} x^4 dx =$$

$$= 4n \left[\frac{x^5}{5} (1-x^4)^{n-1} \Big|_0^1 - \int_0^1 \frac{x^5}{5} (n-1)(1-x^4)^{n-2} (-4x^3) dx \right]$$

$$= \frac{4^2 n(n-1)}{5} \int_0^1 x^8 (1-x^4)^{n-2} dx = \dots =$$

$$= \frac{4^{n-1} n(n-1) \dots 2}{5 \cdot 9 \dots (4n-7)} \int_0^1 x^{4n-4} (1-x^4)^1 dx =$$

$$= \frac{4^{n-1} n(n-1) \dots 2}{5 \cdot 9 \dots (4n-7)} \left(\frac{x^{4n-3}}{4n-3} (1-x^4) \Big|_0^1 - \int_0^1 \frac{x^{4n-3}}{4n-3} \cdot (-4x^3) dx \right) =$$

$$= \frac{4^n n(n-1) \dots 2}{5 \cdot 9 \dots (4n-7)(4n-3)} \int_0^1 x^{4n-4} dx =$$

$$= \frac{4^n n!}{5 \cdot 9 \dots (4n-7)(4n-3)(4n+1)}$$

Zad. 11 LISTA 3

$$\int_0^1 x^{-x} dx = \int_0^1 \sum_{n=0}^{\infty} \frac{(-x \log x)^n}{n!} dx = \sum_{n=0}^{\infty} \int_0^1 \frac{(-x \log x)^n}{n!} dx$$

$$\int_0^1 \frac{(-x \log x)^n}{n!} dx = (-1)^n \frac{1}{n!} \int_0^1 (x \log x)^n dx$$

$$\int_0^1 (x \log x)^n dx = \left. \frac{x^{n+1}}{n+1} \log^n x \right|_0^1 - \frac{1}{n+1} \int_0^1 x^{n+1} \cdot n \log^{n-1} x \cdot \frac{1}{x} dx =$$

$\lim_{x \rightarrow 0} \log^n x \cdot x^{n+1} = 0$

$$= -\frac{n}{n+1} \int_0^1 x^n \log^{n-1} x dx =$$

$$= -\frac{n}{n+1} \left[\frac{x^{n+1}}{n+1} \log^{n-1} x \right]_0^1 - \int_0^1 \frac{x^{n+1}}{n+1} (n-1) \log^{n-2} x \cdot \frac{1}{x} dx =$$

$$= (-1)^2 \frac{n(n-1)}{(n+1)^2} \int_0^1 x^n \log^{n-2} x dx = \dots =$$

$$= (-1)^{n-1} \frac{n(n-1) \dots 2}{(n+1)^{n-2}} \int_0^1 x^n \log x dx =$$

$$= (-1)^{n-1} \frac{n(n-1) \dots 2}{(n+1)^{n-2}} \left[\frac{x^{n+1}}{n+1} \log x \right]_0^1 - \int_0^1 \frac{x^{n+1}}{n+1} \cdot \frac{1}{x} dx =$$

$$= (-1)^n \frac{n!}{(n+1)^n} \cdot \int_0^1 x^n dx = (-1)^n \frac{n!}{(n+1)^{n+1}} \left. x^{n+1} \right|_0^1 =$$

$$= (-1)^n \frac{n!}{(n+1)^{n+1}}$$

Zudem

$$\int_0^1 \frac{(-x \log x)^n}{n!} dx = \frac{(-1)^n}{n!} \cdot \int_0^1 (x \log x)^n dx = (n+1)^{-(n+1)}$$

Stgd

$$\sum_{n=0}^{\infty} \int_0^1 \frac{(-x \log x)^n}{n!} dx = \sum_{n=1}^{\infty} n^{-n}$$

